| Efficiency vs Dxy |
> 0.0]
<

510 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

0.01 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N U. ; T T T
> : : :

9,000+
> : : : : :

e e
© C : E E E E
$9.007 proneerene Froverereees Frrereeeener ARARERRR A
(5] - : : : : :

0008 ++-vvrvseveveeeeee o - RS m—
0.005 ...........
0.004 S
0.003 S S
0.002 U S S
0,008+t g e

0 | /I I | 111
RN D T T80 1 i

Ratio

s 3 1| O

0.5F ARG/ 1 R S—

~30 i j 0 20 30
TP dz (cm)




	Contents
	Page 1


